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V. 2. Which of the following coordinates are intercepts of the linear relation 5x — 2y + 20 = 0

D [(=4,0) X Errors = combine
A. Tonly I [ (—4,10) 6| \6 xa-“:j Yo Rt |
B. I only lin) (0,10) RS oos i
I and I only IV | (0,-10) ol - witng S\GN

D. Tand IV only

A, Label the Quadrants: I, IT, III, IV. 'I[ RN N 1] I

I Y=3 o+
2
34. The solution of a system of two equations occurs in Quadrant III. The first equation is
@ y = %x + 2. Which of the following equations could be the second equation of the system.
H3

y=—%x—2

B. y=—%x+5

C.y=2x-5
D.y=2x+2
4.9. Factor: 4m? — 16n2 = 4(w" -4 A0 Creot: DA N
=4 Cm—lrh (M-— 1& foclor FuLLy
@ A. 4(m* —n?) esp. Wt GCF

. 4(m® — 2n¥) (m¥ + 2n®)
C. 2m —4n)(2m + 4n)
D. (4m — 16n)(4m + 16n)

5 11. Which calculation shows the conversion of 6780 yards to kilometres.

Brcors
/ 09144m _ 1km {Cripped o
A. 6780 yd x a X oo of e roA@S.
B. 6780 yd x —2%_ x 1"

0.9144m 1000 m

@ 6780yd>< 1yd ><1000m

0.9144m 1km

0.9144 m 1000 m

D. 6780 yd X
1yd 1km




Challenging Questions that need Attention
(c.15. Which of the following relations are functions? Ws

s~
I [(2,5),(=51),(0,3),(6,2)" "G 0@ WN%
I |(4-3),(2,1),®5),(6,7) * o

I | (=5,2),(1,2),(3,2),(4,3)v WM
I only
6 I and IIT only

C. Iand II only

D. II and III only

1
“1.16. The slope of a line segment is 3 The segment has endpoints A(—5,4) and B(4,n).

é \010 Determine the value of n. n="] Ettol:
A. 31 J /M%bro&c_ o
B) 7 .r
O 11 I ( )73 M\M\q U\p/x d- \/
C. e (_f’l[,“ |
< -l-{
D. 1 %
—53 15
%@.17. Two lines with slopes S and — . are perpendicular. Determine the value of k. Cecots:
A9
_5 -5 _ -5 S | = oo 5\0PeS
b B. 25 = A = = v k=9 a%scﬂ bu
5 3 3 opposI OV |
C. =25 S\ no_\_ ({U(J(OC S
OIS et
5 K. e =3\ ek
9,18. What does the slope of the graph below represent. -S (’.q’
@ . B
m= (% 600 1 * Took Slops
M ; L oS
- $ - 500 + ° N
= 4 — = & g
ks -l ]
=
E L
S 300 + o
= o
§ 200 + o
o~ o
price per ticket 100 + ©
B. profit from tickets °
C. revenue from tickets | :
0 5 10

D. number of tickets sold
Number of Tickets Sold



Challenging Questions that need Attention
|0 23. The graph below shows the cost of a wedding reception based on the number of guests

attending. Eccor:
_ 367 $03d—dep-
Ao 2 Vol i X-0KS
2 M cinosa
8 \' —\‘f‘r\"—o
2
ks
3
9]
Number of Guests (1)
Which of the following statements are true.
| The dependent variable is n, Number of Guests. X
Il | The situation represents a linear relation.
III | The equation ¢ = 20n could represent this situation X
A. Tonly
II only
C. I'and II only
D. II and III only
||, 24. Determine the equation in general form of the linear relationy — 3 = — % (x+5) ErrorS:«eno
g . 2x+4y—-2=0 == Qisrrioudnon
(b%% % T ty-2=0 Ag- 1z 2(7\+§ '\'c"r‘”‘fs%”‘
17 =- - roYs,
C.2x+4y+5=0 Uy-1z="d7 2
D. 2x+4y—-3=0 ,}X‘”‘ttj‘,’)-'-o
|1, 26. Determine the equa-ﬁon/,in slope-intercept form, of a line that is perpendicular to Ecrors
- y = 2x + 5 and has an x-intercept of 4 21 -5 rcotrect s loge b
1 . a wy i
A y=-lx+4 5=-J:L'x*\° ik (4,0) A ot 0" .
= _1 *Sloge ot ciploc
@ y=-—3x+2 \ + Vo
2 0=-% Q)
C.y=-2x+8 o
D.y=§x—2 °r T :—\/’7\'\‘2
J=b Y="2

|2.28. Ross and Rachel rented a room at the Grand and held a dinner party for 150 of their closest

friends. Each plate of dinner cost the couple $20. They spent a total of $3300, this included the

rental fee of the room. Determine an equation that represents the cost, C, in dollars, as a function
Eftof:

of the number of guests, n. C=0n ~ b
A. C(n) = 20n o M “‘”‘& AZQ
B. C(n) = 20n + 150 3%c0- 20(\5&* w;; 0% TXE
C

C. C(m) =20n+3300  320p-20500= 1O
@ C(n) = 20n + 300
300=1
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Challenging Questions that need Attention

431, Solve:

4x+3y—-15=0

lex+12y-60=0 @ OM=®
A. (0,5)
B. (6,-3)
C. There is no solution.
There is an infinite number of solutions.

Eroor:

gt notice
i+ T54the Sama
Qra « @Tc_(caél
Yo Hrst mer

rougd //

\6,32. Two planes have a cruising speed of 570 km/h without wind. The first plane flies for 12 hgurs
against a constant headwind. The second plane flies for 10 hours in the opposite direction with

the same wind (a tailwind). The second plane flies 370 km less than the first plane.

Determine two equations that could be used to solve for the wind speed, w, and the distance

travelled by the first plane, d.

(570 - w)(12) = d
(570 + w)(10) = d —370
(570 -w)(12) = d
(570 +w)(10) = d +370
(570+w)(12) = d
(570—w)(10) = d —370
(570+w)(12)=d
(570—w)(10) = d +370

o (s70-w)12= 2
G (5-—;0—\“,\55\0 = d4-%710

l033. How many different prime factors does 36 have?

A.

B.3
C. 4
D.8

56:2-2:3"3
Prva Cocdv®: Jo3

(i is rot pri@

E(coT:
distons
Coustord

L ov

clooss # kuckoS
In prime Lackol i zeAa
o inciude e

.

\"1.34. Match each of the following numbers to the classification of the type of number. Each
number will match up with more than one category.

X 7 \/ Natural

0 Whole
7 Integers
V7 \ Rational

Irrational

Emsr’
. aorwsak 4



Challenging Questions that need Attention

\%:37. The population of bunnies in Kelowna doubles every year. There are currently 200 bunnies. Er l
When will there be more than 10 000 bunnies?

A 5
@ 6 \_/'\ N ~ N —
D. 50
19.38. Simplify: (4m?n®)? + (8m3n*)?
b
A — own )\ —
2m?2n2 - = /'l 1~
4m?2n?
C. =
2m
D. —
4m
4
o 64m®n \3 1-=4 \
Jo.39. Simplify: Sm—int = ('™
8m?8 —%s
L/ b
A — ?\Fg \@\\3 (r\
8m®
B. - L\ ¢ -4
nt 2 MmN
16
g
C. mb5n#4 - \(DN\
‘e,
(\H

9\.42' Timmy used the following steps to find the area of the shape below

20 4oo B0 1eo® 37260 6400 \l'\lgoo
——

x+2

2x+1

x+4

A=02x+1D(x+4)—-3(x+2)

I
L |A=2x*+8x+x+4—-3(x+2)

(1) A=2x2+9x+4—3(i)5

IV|A=2x?+6x+10

Which step did Timmy make a mistake?

Al

gl
II

D. IV

| 660

‘Ovtfestimaid

Errot
wels preren

Cog%u@f\fs

’F_r'fo(

“FPowsels Not OP(’\LQJ
fo cotfHuntS

* Shen Su-b‘\'(o‘d_"j

e axw""*

?0"7\‘\'“('9.,

E crov

207%-Cinoose  1*Fstep
’Lﬂi 'O,\ 00% nNo
et



Challenging Questions that need Attention

J2.43. Which of the following expressions have a factor of x — 6 Eror:
- T | x2 + 36 -%um of Sopches - can't fudo’ . Ca.c_&:raxo?;mﬁ
A s e
UL | 3x° — 14x — 24 - x-24 3(-2H) v .
/| 4x(x — 6) + 5(x — 6) -7 ¢ (ot Racdort
A. Tonly (*-C)ax+3y 2 OxE-\gxt LK - 14 < Arinowial s
B. Il only = 3y (x-0)+ 46(_@ Jeoding coefficiert
I and III only _ \ e
Il and TIT only = (X-0) (x4 4
3%,44. Which picture best represents the factoring of x? — 4 Eccav
@ \co (rech
1
“Shope
-not Sn.airxs
3 (zz_(,\'wf\OX\jL
C.
9]’\45 . Which mass in the following list is the heaviest?
‘\Mpd'\d Aons
480 000 g 2150 kg 4600 pounds 4.3 tennes
>4%0 kg 400 1, 0,45k 4B ony 2000 s BAH ky
A. 480000 g XL o
\\b \+on
B. 2150 kg
C. 4600 pounds = J0%% 4 \Lj = 29644 \LS
D.)4.3 twmmes
iMmpar(e) ks
J5.46. What is a good estimate of the length of one regular step? Errst:
A. 1 foot - Jery shott »Q»u\j'\*\
@1 metre of \1
C. 300 cm | 2
(o —hael) 7

D. 2 yards



Challenging Questions that need Attention

Q@ 48. A sl}fd with length 3m, width 2m, and height 2m, needs to be painted. The total area of the
door is ®8m? and does not get painted. There are two options for buying paint, as show below.

@ Determine the cheapest cost to paint the exterior walls and roof of the shed. Eras:
. \nc,budvld

Ao/
54.50 $15.00 O eSTTmeke
Q?o{\r\‘k
—" “Includied
] foot.
A. $52:6045.00 N T
o
B. $ 5505%5° R— O NS
C. $ 5580L0-0° — _ >4 (\5\=$(96
L4 b4 o =24
D. $ 686806750 7 él D)
=\, 3(0)+2(1:9)=22.5> () * _35% 2
> _ S(1.3)= 22.5 > 5(4.50) '
A= 3 () +DADTHD-3 (1) SS 7S
A2 m*
J “149. A cone has a radius of 5 cm and slant height 13 cm. Calculate the volume of the cone. ot
-
\f'\t-’— \’51—’ 51 v (Age O sl
 340.34 om’ ) heigrd o
@ 314.16 cm? MW
C. 364.64 cm® 2L wth
D. 942.48 cm® 3

<XT (gf(ﬂ)




Challenging Questions that need Attention

Js. 0. Tiffany & Co. offers a tennis ball set that consist of four tennis balls packaged in a sterling
silver container. The container keep the tennis balls at optimal playing temperature and sells for

$1500. If the four tennis balls are stacked in the container and fit perfectly, with no wiggle room,
how much empty space is inside the cylinder. Note that a tennis ball has a radius of 3.35cm.

Ectesr

- vt .
Y~ 0 ok e
h:@.’s%xﬁxﬁ{ - 90.% :‘m;&

V= (323 (A63) Vst Sulotrackd
= 944,57 e SENE

é315 cm’ \/swc 2%,\-\(3

757 cm 3
D. 945 cm® AT (3 23) * A
> \$%.05

2 .52. Polar Company has designed an ice block in the shape of a cube. The volume of the
cube is 15 625 cm>. Which of the following dimensions is the smallest opening of an ice

dispenser that will accommodate length AB? M

24 V=L
ses=

3[S 625 - A
=25

A. 25cm wide 0757.4_ 2511 ,x7—
B.. 40 cm wide ) 61
( ; > 45 cm wide Xz 150 2, [ o ° A
. over 50 cm wide . AS 175 B}
575 = AB
. AR = 473. 3







